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The first diagram corresponds to the problem scenario in the “Issue Details” of Issue 014.


The second diagram shows how this problem could be “resolved” for Coordinator Completion given mandatory use of wsa:replyTo.

The third diagram shows how this problem reasserts itself with Participant Completion.

The fourth diagram shows how this problem is solved for Participant Completion by use of /RegisterResponse/ParticipantIdentifier or some such new element in Register.

Notes

1. All the diagrams assume that a recoverable service has received a CoordinationContext for WS-BA transaction T, gets ready to Register P1, and then P1 fails, leading to registration of a recovered P2, whose EPR is different than that of the original P1.

2. The convention used to construct a name like “C ( P1 EPR”, is: “The EPR used to target messages from C to P1”.

3. Lower case italic t = time, where t1 is earliest time, etc.
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Issue 014 Problem Scenario: Diagram 1. WS-BA Coordinator Completion





Completed never arrives at P1(C EPR. 


C  cannot know P1 and P2 are same thing unless it compares EPRs, or has


an identity for P.
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Issue 014 Problem Scenario: Diagram 3. WS-BA Participant Completion





Completed never arrives at P1. 


P1(C EPR has never been communicated by C to either P1 or P2.
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C knows it has one participant P, and juggles EPRs to catch up with duplicate Register.





Issue 014 Problem Scenario: Diagram 4. WS-BA Participant Completion using Participant identifier in Register
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Issue 014 Problem Scenario: Diagram 2. WS-BA Coordinator Completion “solved” using wsa:ReplyTo





Completed now arrives at P1(C EPR. 
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